Summary

Serial
Ho.

Type of Load Parameter
converter -
1'¢ half wave R _ Ty e
’) VO(EW) ﬁ&'—nm—(f.l-* COS_CL) e NI
Vi
RL 'vo(av) & Q_T—I(COS « —CO0S B)
5 —_ \/HT
RL wilh freewheeling | Votav) = 75(1 + 008 1)

dinde
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1 ¢ semi R Vi
converter Vo(av) = —&—(1+cos on)
6 »
V2 1. 2
Vo(msj = {é—%[n—a +58in ZaJ} \
V
RL Vo(avy = 7m(1+ cos o)
' ' 1
2 2
Vo(rms) = {\2/-—2[11—-0. + %sin Za}}
DF = cos &
RL 2 |
: 3 ™
PF = 2=
| "n(n—a) cos? 2
HF = __n(n—a),q
80052%
.1 ¢ full convertef R Vv _
7 . Votav) = ?m(1+?os )
» 1
V2 oo 3
Vo(rms) = {ﬁ[n—a+§sm 2(1}}
B 2 i
RL Notay) = —~ cosa
V,
Vf.)(rms) = J_nzl‘
V,
\Y) = _m 1
RL with freewheeling | %) o (1+cos @)
dicde ' V2 1
I ""V'd('r?ﬁﬁ5‘{;’%{n~a‘»+%—sin-2 a—-}}z
DF =cosa
PF = %Cos o
RL
HF = 0.4834 or 48.34%
,/\'.I
3 ¢ halfwave d R _ 33V,
converter / Vo(av) “on CO§ a fora < 30°
) ) 3V, T
| =3 tasos( B o) | fr a0
RL 33V, |
Vo(av) = _2"?[”"008
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3 ¢ semiconverter

R, RL ‘ 343V,
Votaw) = — 7=  (T+cosa)
3 ¢ fullconverter R '
Vo(av) = 3»/?;\/,,, cos o fora <60°
Volav) = 3J§Vm[1+ COS(E + a)] for o > 60°
¢ n 3
gl = 343V,
RL - ofav) = oS «
RL - with freewheeling |  Vay) is same as that with R-load.
~ diode
1 ¢ dual converter RL

2V
Voi(av) = —Tmcos oy

2V,
y Voz(av) = —T[EJ-COS (0 %)

a1+ a2 = 180°

i. = i
e Tl

[cos wt -cos o]

Scanned by CamScanner



